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Letf :[R— [Rand g : [R— [Rbe the functions defined by

2

R, g(x)=— R
T ke A T

f(x)=

Then, the correct statement(s) among the following 1s/are:
A: Dbothf g are one-one

O
B: Dbothf gare onto
QY

C . both f, g are not one-one as well as not onto (\/

D: fand g are onto but not one-one
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faoeR.ne Nandn+2(mn—1D)+3n—-2)+..+(n-D)2+nl=ann+1)(n+2),
then o=
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If the function f :[a,b] — [ J defined by

)
1 1 1

f ("’ )= I I+sinx 1 1s one-one and onto. then
1+cosx 1 1
1 1 1

f(x)=] 1 l+sinx 1
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The rank of the matrix 1S
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A value of 6 for which the following system of equations has a non-trivial solution is
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If z =2+/1+/31 represents a point P in theydsgand plane and P lies in the third quadrant,

then the polar form of = 1s ?‘
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If - =x+ iy represents a point P in the Argand plane, then the area of the region represented
by the inequality 2 <|z— (1 +4)| <3 1s
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If p 1s a complex number whose modulus is one, then the equation [
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If the maximum value of 2x — 7 — ax” cannot exceed 20, then the munimum value of a 1s
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A student while solving a quadratic equation in x, he copied its constant term incorrectly
and got its roots as 5 and 9. Another student copied the constant term and coefficient of
x” of the same equation correctly as 12 and 4 respectively. If s, p and A denote respectively
the sum of the roots, the product of the roots and the discriminant of the correct equation,

A
then — =
Ip+s
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The product of the real roots of the equation (x + 1)* + (x + 3)*=8 is

(x + 1)*+ (x + 3)* = 8 $Do&8wo0 R0y, THD Sorodne oxo
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The sum of all the real numbers satisfying the equation x~ + |x— 3| =4 1s
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Consider the following statements:

1)

ii)

iii)

v)

Number of one-one functions from set A to set B, where O(A) =m and O(B)=n (m <n)
is given by "P_ .

i)
Number of ways in which ‘»” people can be arranged at a circular table 1s 2 5 4 :

Number of ways of selecting atleast one thing out of the given » distinct things is
2" — 1.

Number of ways 1 which » distinguishable objects can be distributed mto &
distinguishable bins 1s “C,_,.
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O
S
28 DO we whiar 1 Hodd wSd)Hon &)cﬁi%:oomg (”;l)'

Wabdire dopg "P

n YY) 68 SRJo ok g0 a8 5% @ § DoLrOn dGdwe dowpg 2
n IPS) SHJod, k DS é”ége:eﬁfs Ddwe Sopg "

Then which one of the following 1s v
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Options:

A

All the statements are true
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All except (i11) are true
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2.

Only (1) and (111) are true
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Only (11) 1s false
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The number of ways in which 3 identical balls can be distributed into 7 distinct bins is
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n
Let (l +x+x ) = ay + ax +a, x> +...+a,,x”" . Then match the items of List - I with those

of List - II.

R
(1+x+x2) zaﬂ+nlx+azx2 +...+a2nx2” w8 0d. wiyd e I &' woddwod

arder- 1l °Q wodfdnes 2838808k,

List-1 List-11
e -1 erder - 11
A) .ng+az+...+a2” D) 73
B) atat..+a 1) '”3?1
C) a+2a,+3a;+...4+2na,, 1) 2(3"+1@
10
V) ;& )

The correct match 1s C)
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A B C /@
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vV II I
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m I I
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For x =

B o . : _— 7 -
= if 7, is the first negative term in the expansion of (1+ \]A Jgthent, +6, +... 41 =

8
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X" =12%%+7 i
(x2—+l)3

The coefficient of x° in the power series expansion of
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e { 3sinA  2cosB
If A and B are acute angles satisfying 3cos” A +2cos\B)=4 and — = , then
smB cosA

A+2B=

: . 3sinA  2cosB
A 508050 B oo 3cos? A+2cos’ B =d\ %8030 -

- Od S)NIIT
sinB cos A

@@Qg‘:‘r@é &5‘"56‘@3 A+2B=

Options:
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IfA+B+C= —, then siu(%)Jrsiu(%}JrsmC =
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If \E sin’ v+ (3 2+ l) sinx+3 >0 and x> — 7x + 10 < 0, then x lies in the interval

\/ESillz.T—l- (3\E+l)sm Y+3>0 %9850 ¥ —Tx+10<0wond, @Yo x G0k WoSI0
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IfCU§4x+(km*H»%Cﬂydiz/ . then
Cos 'x+Cos 'y +Cos =37 wond,

Options:

X Eytz-3=0
x+y+z+3=0

v+ 29+3z—3=0
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If -Sinh_1 (\f@ ) +Sinh™! («.@ ) =, then sinh o =

-Siuh_1 (\/g) +Sinh™ (\/2—4) =008, VIV sinh e =

Options:
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In a triangle ABC, ifcos Acos B+sinAsmBsinC=1.thensinA+smB+sinC=

o8 @ebzo ABC &, cos Acos B+sinAsinBsinC=1eows, edpd smA+smB+smC=

Options:
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| | Vg
In a AABC, if the medians AD and BE are sucﬁl}a AD=4, ZDAB= g and LABE =—
=X
then the area of AABC (1n square units : 1
& )
o8 @ghao ABC&®, AD=4, 6@2 £ 08050 LABE = — edgtotannr Soggrdsnes
J (57
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Options:
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Ina AABC. if = 2.:*2 =2 31*3. thena : b=

28 @Pzo ABCS® r, =2r, = 3r, 008, @iy a: b=
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If 7 and § are respectively the internal and external bisectors of the angles between the
. B L 8 = B o
vectors —7 +27 —2k and 37 +47 and |@|= ;\/E ; ‘f)‘ = :\/; , then one of the values of
E J
a-b is
T 500050 b @ SEBm, —7+27 -2k 08050 37 +47 @3 560 @088 B85
. e D .
g8 DJ08gpodd Tpen vHEr, |f-'|=:\/g- ‘b‘zjﬁ@wé, wdyd a—b Bwy),
2 3
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If the angle between the vectors 2¢°7 + 4o +k and 77 —27 + ek is obtuse, then

2077 + 407 +F 59850 77 -2 +ak $6¥0 Hodgho oo vhE s, dyk
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Let L be the line parallel to the vector \/E . S@ - and passing through the point A given

by i+27-3 3J . If the distance between : a point P on the line L is 18 units, then the
position vector of such a pomt P 1s @

2T —57 43k $8¥% ééf@éﬁ{@ﬁrow, T+27 - 3% ™ onSgess Dok A Ko
FeobSodomo. A8 SoBosn O L"Eg e w8 Hothy P& &égﬁ@ Sordo 18 dﬁm@é;ﬂ.:-
©0o08, Vi ©irol o Doy P Jwg) oI H6%

Options:
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Let E=p(;+}+f) o T+ 72k and 7 — 27 — j + 2k be three vectors. If the value of

[E b EJ 1s not more than 15 and not less than —3, then p lies in the interval

E:p(}+}+?), b=T+7-2k HoBosw -Ezz?—er@;u Sardd HBFoSB0To.
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Let =7 +2j—kandb=7+j+k.If 5 is a unit vector such that [ﬁ b ?J is

maximum, then p =

G=7+2]-F $00%0 b=7+j+k eoFob. @ § P g0 echgbinm &)

G5 D6 p wond, wdyd p=
Options:

1 e T
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If @=27-37+k.b=7-7+2kandé=27+7+k are three vectors, then
(@xB)xz|=

G=27 —3j+k, b=7—7+2k $00050 7=27+7+k oo Sardo 56988, windo

Options:
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The mean deviation about the median of the\following distribution is

DEgido ood (Hdomr) & Bob Ao RE) DEgd JIbodo

% 6 12 N 18 24

il
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For a group of 100 observations, the arithmetic mean and standard deviation are 8 and

V10.5 respectively. The mean and standard deviation of 50 items selected from these
100 observations are 10 and 2 respectively. Then the standard deviation of the remaining
50 observations 1s

100 J83wd0dn HOAS o8 JSJ0ToINSIE WoElFgodn Hdw EudTodtnen

SB_m 8 Hodosw .\HIO.S . % 100 H82e850 o JohE TS 50 wore G308, 0Eg00
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If a number 1s selected from the first 30 natural numbers, then the probability that the
number selected 1s divisible by 4 or 7. is

F0088 30 S Dopge od a8 Dopgd JohE TN, oty Jows BdS dopg 4 oo
73 grioddd 53&08 o Sogrdgd

Options:
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I£ 80% of flights depart on time, 70% of flights arrive on tuQgand 65% of flights depart on
time and arrive on time, then the probability that a fligh 1as just departed on time will

arrive on tiume is (\/

80% DErSS0w0 HOGS DB5IET S aoﬁ;m@ 0% DBFES0e0 HOGH HBCPRE
BHOFToE Ho0adw 65% JdrSSwen I8 DB005rA8 20He0BO SoddBn DOFBS
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A computer program has two modules X and Y and errors in them occur independently.
X has an error with probability 0.1 and Y has an error with probability 0.3 . If an error in X
alone causes the program to crash with probability 0.5, an error in Y alone causes the
program to crash with probability 0.7 and an error in both X and Y cause the program to
crash with probability 0.8, then the probability that the program is crashed is

w8 Sourglod @Iras X dcin Y od Sod derme (Srdrgd))d §0A God Sodddw
FHS* ShSnen Kdo@orr HoPdTon. X &° Fho woB dozrdgd 0.1 Hddsn Y &°
&0 God dogrdgd 03. X &° woB &ho Sod ér@é?&s%’@“ig@S EPra0 Wi
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Two dice are rolled. If a random variable X denotes the sum of the numbers on them and
denotes the mean of X, then

U+PX<5)+PX>9)+PX=7)=

Bodd rdosh Fhomrd. T8 VB dopge FogSndo w8 Ol Syins Weoory Xdoedogoh

SoBcso X ook, G5ErR) K Srdl, By

U+PX <5 +PX>9)+PX=7)=

Options:
15
-
17
2.
i
=
15
4,

Question Number : 41 Question Id : 7512364841 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



A boy rolled a die once. If an even number appear on that die, then the number of chocolates
the boy gets 1s equal to two more than the number appeared. If an odd number appear on that
die, then the number of chocolates he gets is equal to three more than the number appeared.
If a random variable X represents the number of chocolates the boy receive. then the range
of X 1s

.8 ere0td wl FRESH FPowrd. & FAERS JBdopy EQ0R, e Sopg §oB wdd Fod
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Match the locus of the points in List - I with the curves m List - II. (Here p, ¢ and r are
constants and t, 6 and A are parameters)

e - 16 DobhHhod Hodn e -Il& Spod ad Toosk. (988 p, g, reo
ic‘gtr“oﬁcﬁmw 06050 t, 0 H508c%n A en Horandien)

List-1/er8er-1 List -1 / erDe-11
glerd) 4]
=l t+-|, ={ t—-
A) {2 )5 ; I) parabola
DT PO G500
B) (p+qcos®, r+gsind) ) circle

Jygsoo q
Q) (p+2. q-4) m) empgel/Q\'
&5

I‘@l}«‘perbola

OB IT S350

The correct match is Q/E
58505 &6 /@
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When the origin is shifted to (1, —2) by translation of coordinate axes, the transformed
coordinates of (3, —2) are (c, B). If the axes are rotated about origin through an angle of
45° after the translation, then the transformed coordinates of (o, ) are

JErHE wEE0e $IF08Y FOSES T Saredosdo (1, -2) Do SrOBBIE,
(3, —2) Doty R Srrodo Bods Jdrdsren (o, B). & ddrodd J8IGS Soxd,
Soreodotdy STy, o 45° Foedsssd T, (o, B) Doy Bwg), drdroddo
BoBS ST en q

options: N
" Q
(+2.0) Y
y QQ/
(0.42) $

: &
(o

()
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Single Line Question Option : No Option Orientation : Vertical



If a straight line 1s passing through the point of intersection of the lines 3x— 4y + 1 =0,
5x +y— 1 =0 and making equal non-zero intercepts on the coordinate axes, then the area
(in sq. units) of the triangle formed by this line with the coordinate axes, 1s

3x—4y+1=050c0 Sx+y—1=0e3 Spe pods Doty HomIdr, JErdsToD
IS HErd vwodd pored VD af J¥0y IErHs vpod® §OD 56355 |Behezo
Qg ITego (. oﬁw&%ﬁ*)

Options:

i
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Question Number : 45 Question Id : 7512364845 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the equations of the perpendicular bisectors of the sides AB and AC of a AABC are
x—y+5=0and x + 2y = 0 respectively and 1f A 1s (1, —2), then the equation of the
perpendicular bisector of the side BC 1s

a8 @ghadn ABC Qg shadwnes AB Sdddn AC o oo SB0BPOED RENS
Handdeadnes 353 x—y+5=0%8c80 x+2y=0, Hdc5n Awdd (1, -2) vons,
ghadn BC Gwg), oow HS508pods 3 H0880kn

Options:

I+t =4



Ox—23y+40=0

6x+ 157 =5

23x — 14y + 100 =0

4.

Question Number : 46 Question Id : 7512364846 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the lines x + 3y —5=0, 5x + 2y — 12 =0 and 3x — &y — 1 = 0 do not form a triangle,
then a value of £1s

x+3y—5=0,5x+2y— 12=050c%0 3x—ky— 1 = 0QR JE¥open af @ghadom
bdﬁé@és’ﬁé. HVE &k Qg w8 Deod

Options:
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1
|
5
2.
-6
S
3
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Question Number : 47 Question Id : 7512364847 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



If the combined equation of the diagonals of the square formed by the pairs of lines
xv+4x—5y—-20=0andxy—5x+4y—-20=0isx* —y* —kx+ /=0, then k+ /=

xy +4x — 5y —20 = 0 50050 xy— 5x + 4y — 20 = 0 93 Sprcomps” JGE S0
Bog), JEGE0e wSd BLETRSH X —) —ke + Iy =0 wond, wdyk k+/=

Options:
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Question Number : 48 Question Id : 7512364848 Queﬂlon T Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertic

The equation of the pair of bisectors ng 1es between the pair of straight lines
3+ T+ 2y + S+ Sp+ 2= 015

3"+ Txy + 217 + Sx + Sy + 2 —/\95 D¢ Bradniiydn Hdgie Sere ddobopods S
cdoorfySon SIo¥), Daogdeadon

Options:
L 5)2—2 Bx+35)@+5-T7@+ 5)3:

73x-5) -2 B2-5) -5 -T -5y =0

7(Gx+37-20Gx+3)Gr+D-7Gv+ 1Y =0

G



7(Gx=-3-20Gx-3)Gy-1)-7Gy-1)>=0

Question Number : 49 Question Id : 7512364849 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

2at a (1 = : ) : .
H 5= “_2_1 y=——-=" where 7 1s a parameter, then a 1s
I1+1¢ 1+1¢

all=i
- 2(”2 ‘1,::(—2), [ JT°NE o8, a ¥wIB
1+t 1+1

Options: Q\/

the length of the latus rectum of a paraboiz

X

w8 Jodwchdn AwE whooo
1 C)
the radius of a circle g/$
. 28 )BS0 JooE), af'%i
the length of the transverse axis of a hyperbola

28 VEVTVOOLHY DwE SIS VEW FEY

the length of the semi-major axis of an ellipse

2.8 agéﬁm B0E), ©f ST ES0 Do), DAY
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Consider the following statements:
E It P('Ty v,) and Q(x,, v,) are conjugate points with respect to the circle
X+ +2gx + 2fy + ¢ =0, then
Xl-rg +.1"1.-1}2 g g(xl & xz) +f(]""1 +.-l"2) ek
I The pole of the line x + y + 1 = 0 with respect to the circle x* + 17 =9 is (9, 9).

& 1800 BISSEno 808
L X+ +2gx +2f + o= 0 53850 &)irg, Plx,, v,) 508050 Qlx,, v,) o0 Hoosaiy
DodoYen wond, edyd xx, + ¥y, +glx, +x) +f (v, +»,) +e=0.

I SEsox +3y7=9&yxs x+y+1=03» oo, G0 (9, 9).

Then, which one of the following 1s true?

wiyd & Bob TIST DB HSgK0? \,
Options: (\/Q
Both I and IT are time

&
[ 5080500 II en oo D&gkm

1_ ©
Neither I nor II is true v

I 508030 11 e Bodr K@g;’n}

2.

1 1s false and II 1s true

| RS0, I D&Bgd0
3

I1s true and II 1s false

I D&gd0, IT JSg50

4.
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If P is the point of contact of the circles x* + 17 +4x+4y—10=0and x* +1° —6x— 6y + 10=0
and Q 1s their external centre of similitude, then the equation of the circle with P and Q as
the extremities of its diameter is

X+ +4x+4y—10=0 508050 ¥ +)7 —6x — 6y + 10 =0 538500 BnE), H1HDES
P 508050 578 ddrderirg Soio Qo8 edydh P Qe od a7gdd wody DothHeor
Ho SyBhn o), ¥

Options:

X+ + 14x+ 14y -26=0
¥+’ +5x+5v-8=0

¥+ —S5x—5r+8=0

Py - - 14y +26=0 QS

4. Q/Q
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Let k> 0, .sa, =x"+ yz +2ax+k=0 and Sp= x>+ 3% + 2By —k =0. Then match the
items of List - I with those of List - I1.

List-1 List-11
A) Pomt circles of s, =0 1)  do not exist
B) Point circles of g = 0 11) intersecting
C) The circles ins, =0 are 111) non-infersecting
D) The circles in sy =0 are 1v) (J_r@ ,0)
9 (0.

k>0, 5,= 24+ 37+ 2ax+k=0 558053 sg= X+ 428y —k=0 wSdomdSe.
ey Fder- [ 9 woddnod, wder- Il &0 vofdned® a8ldbok.

>de -1 e - 11
A) 5, =030% Do SySoen 1) ég.{){be:% %
B) s3=0 w8 Dok SHddaoen 1) 5&3@3
C) 5,=08° HHddoen 111) 0e308°Y)
D) s;=06% Sygswe i £4k,0)

D (02
The correct match is Q/
50 &8 &@

Options:

A B C D
(i)  Gv) @) (@)

A B C D
) @) @ ()

A B C D
;. )  @® () (1)
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Question Number : 53 Question Id : 7512364853 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The equation of the circle touchmg the line 2x + 3y + 1 =0 at the pomt (1, —1) and orthogonal
to the circle which has the line segment having end points (0. —1) and (-2, 3) as diameter, is

2x +3y+1=032% (1,-1) ¢ dyygde Sodosw (0, —1) Sodasn (-2, 3) DohHod
wodg DodHeorr KOKS Drrpomd) T gddnm KOAS $)B S0 LoRTBSH0 B Syso
R, D880

Options:

¥+’ —10x+5y+1=0

1_ S
/\‘1/
Y+ +5r—10y—1=0 ((/
@

2.

3.

2 +2y° +10x -5y —1= OQ/?*
9

2x* + 29 — 10x — 5y +’& 0

4.

Question Number : 54 Question Id : 7512364854 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The angle between the tangents drawn from the point (1, 4) to the parabola v* = 4x is

V' =dx So05e05rds (1, 4) Dok Hod AAS HIBpe DHEgE RS

Options:
¥/
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o
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Question Number : 55 Question Id : 7512364855 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the line y =—x + k is a normal to the curve y* = 14yx, then k is

7 1 5 o L
Y =16x 5508 y = —x + kol SG¢0p o8 $§goly ©o0d, wdyd k=

Options:

21
1

14
2.

13
3.

12
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Single Line Question Option : No Option Orientation : Vertical



| T . 2
The normal drawn at the point (\/5 COSI 7 SIHZJ to the ellipse % + 1'7 =1 mtersects

1ts major axis at the point

LE .3 '
% %—I é:o’:égwas (@cos%,«ﬁsin%) Dok ¢ HAS wPeooady, T
50; Q) podod Dok
Options:
2.
0../—
7

Question Number : 57 Question Id : 7512364857 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If (1, -2) 1s the focus and x + v — 2 = 0 is the directrix of the ellipse
17x* — 2xy + 17" — 32x + 76y + 86 = 0, then its eccentricity is

175" — 2xy + 17p° — 32x + 76y + 86 = 0 3 855208 9 (1, —2) So8chn doh&dy
x+y—2=0wv008, edyh & B o’

Options:
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Question Number : 58 Question Id : 7512364858 Question Type: MCQ O guffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

g .2
The line 2x + y =1 is a tangent to the hyperbo&l/%— ;—2 =1 (a > b). If this line passes

through the point of intersection of a direc&ﬁuﬂ the positive X-axis, then the eccentricity

2
x—?—%zl (a > b) @@:{:mﬁ;{@é 2x+y =138 o8 &Qcﬁﬁgp. & O 8 JoHEdY
L b_

a

of that hyperbola 1s

=2

S0l £ X-wilne podd Doy Homds, o uddodochin Qg &) ods

Options:
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Question Number : 59 Question Id : 7512364859 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the orthocentre and the centroid of a triangle are at (5. 2, —6) and (9, 6. —4) respectively,
then its circumcentre is

wf BFoadn Sug) woaBodo oo Soerddwes 38dm (5, 2, —6) Sododw
(9,6, 4) 3¢ &0B, wdyd oo H058 oo
] o v

{82
) ( ) O
QY
8,83 vV

(11,8 3) @

(11,83 c &
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Question Number : 60 Question Id : 7512364860 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

If the direction ratios of two lines are given by a + 2b + ¢ =0 and 11bc + 6¢ca — 14ab =0,
then the angle between these lines is

Soh Opo S8 opge a+2b+c=05000%0 11be + 6ca—14ab=0m 2R, ®HYE &
Opo e §eo
Options:

T

o
)



Question Number : 61 Question Id : 7512364861 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If a plane cuts the coordinate axes at A, B and C respe %yy such that the centroid of the
triangle ABC 1s (6, 6, 3), then the equation of that plq%

©sbadn ABC g Solerddn (6, 6, ¥f@agg@m QErdHE wprod o dodo

S5 A, B So8csn Ceo 8¢ pody, f:& Sodn G Db

Options:

EhyrtE= 10 Q/v
L &g
t+2p+z—18

xFy+2z=18

2x+y+z=18

Question Number : 62 Question Id : 7512364862 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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. x x
lim x| log| 1+= |—log— |=
x—m{ g[ 2) gz]
Options:
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o
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A

Question Number : 63 Question Id : 7512364863 Question Type: Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Verticalc)’@

x—1
The set of values of x for which the fun@ Flx)= log( ) is continuous, is

({/?” x+2

©Roc3B50 f(x)zlog[%%@a%@m wdogltn GOl x BwE) Jewde JdS
X4
Options:
R
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Question Number : 64 Question Id : 7512364864 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

S—3x . ifx=s

If the function f: R— R, defined by f(x) =1 ,then *f” is

x> —3x+20.if x>

W | | tn

5
I=3K EE- @m&éé‘jc&x
£(9)= : ™
2 —3x+20 , X > = wanSdyd, q/Q
' X

™ QGcDoS0aS £ R— R o3 ©Hchsm, @ oy f”

Options: _ @
_ J ?'
confinuous at ¥ = — Q/
D

5
differentiable at x = 5

bl | tn

3¢ wdEodaDBo



differentiable at x =2
x=2 a’:g: W38 0530

discontinuous at x =—2

x=-238 JQd)d0
= T
Question Number : 65 Question Id : 7512364865 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

: 1 d*v
If tis aparameterand x =f+—, y=1——, thenwg -

QY

| 1 ] i
Y=f4o, y=i—— S0okn fas éﬁﬁ wond, VB9 o

Options:

4t Q/?~




Question Number : 66 Question Id : 7512364866 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

2 T dzjf’
Ifax + 2;31{‘1 g5 E)‘[ =" then e
dx
g 2 - 3 dz'l?
ax” + 2hxy + by” = 3 ©008, ©dyd T
x

Options: Q@
- ¥
: (h.rz +bv+ a.r) Q//&
@,

(ax+hy)’

| (m}* + hx” + b_]-'.r) Q/?~

(ax+by)
z.
3(h* —ab
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(hx+ b_r)g
>,
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e e+ tass



Question Number : 67 Question Id : 7512364867 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the error in measuring the side / of an equilateral triangle 1s 0.01. then the percentage
error in the area of the triangle, in terms of its side / 1s

w8 Sdowrdv Bhzbn BnE) Foadn [ H Foddos’™ &hdn 0.0] wond,
©HaITogod° FhTdo, ord BwE), hade [ Irod

Options:
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Question Number : 68 Question Id : 7512364868 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Ifat any point (x,.v,) on the curve y = f(x), the lengths of the subtangent and subnormal are
equal, then the length of the tangent drawn to that curve at that point 1s

y=f(x) S0 IBS a8 Do (x;, y)) $§ sddGwodo Sdosn GdwHoupome
PEYHe0 Drdn owd, & HEFRE & VoY SF HAS Yty SED

Options:

2 | »l
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Question Number : 69 Question Id : 7512364869 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The height of a right circular cylinder 1s decreasing while ameter 1s increasing at a rate
of 4 cm/sec so as to keep its volume unchanged. Th %of change in its lateral surface
area (in cm?/sec.) at the instant when its diameter i ﬁm and height 1s 12 cm, 1s

28 S50 HpHHw BN, HSHOITeH0 %drégéoawaé, TR D&y SHE0d, TgHEN

4 200.0/EH THYS DHNS08. T T 8 Dok, Iy 12 Do &) Eeod,
JpHEn GH0EL PTOLS'R ﬁrd@?ﬂao.wmgmeﬁﬂ

Options:
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If x + v=60. x>0, y > 0, then the maximum value of x3° is

x+y=060,x>0,y>0©008, vy xv° FoE), HOQ D0

Options:

Single Line Question Option : No Option Ori ien : Vertical
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j 1+ 2cotx(cotx +cosecx) dy =

Question Number : 71 Question Id : 751236487@?& Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Options:
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2log +c

X
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5, e X
log Sl —+ 0S| +C

2log|sin x +cos x|+ ¢

Question Number : 72 Question Id : 7512364872 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

1— ABsinx ¥ a2+
If I m{ P }dft‘:—ertm—ﬂ?.then—ﬂ:
—COS X 2 208

(1-pBsinx x ot + 32
ﬁfﬁ A &:—ﬁfm—+F@mﬁu%ﬁ@-——£L:
1—cosx 2 i 200
Options:
-1
1.
1
2.
E
i
=3
—2
4,

Question Number : 73 Question Id : 7512364873 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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IAT —4x* - dr=
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—2x =3




Options:

E]DE‘Y l| lDE|TT1‘+(‘

rat

2log .T—l‘-i—% lﬂg‘r—3‘+c

e
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Question Number : 74 Question Id : 7512364874 Question Typg: MEQ Option Shuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical

ICDSECSX dx=

Options:
L5 3 i 2
Coseexcot-x O X
——cosecxcotx+— 102 tan— + ¢
4 8 8 2
1
3 s
cosecxcot"x 5 3 X
— ——cosecxcotx+— 102 tan—|+c¢
4 8 8 p
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cosec” yrcoty 3 3 X
- ——cosecxcotx+—log|tan—|+¢
4 8 8 2
=,
3
cosec” xcotx 3 3 X
— +—cosecxcotx——log|tan—|+¢
4 8 8 2
4.

Question Number : 75 Question Id : 7512364875 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options:
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Question Number : 77 Question Id : 7512364877 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Area of the region (in square units) bounded by the curve y=x*+4 and the line y=5x—2 s

y=x"+4 3 5B50 500050 ¥="5r—2 D dped D02EFN Fodo FTogo (B cSorILd’)

Options:
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Question Number : 78 Question Id : 7512364878 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If 7 and » are the order and degree of the differential equz@l of the family of parabolas
with focus at the origin and X-axis as its axis, then mn@y n=

Srodody) 3§ THY E0A ook X-v§ m“‘c’o widom §0Ad dordochine
Sodoooardn B0 ), w8l <a§)3§<5595333 S8S;rSn 8o EEKE SEEm
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Options: v
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: Bl _
The solution of the differential equation 4 &, & 1 L e 0 15

de y 2(x+y%)+1

i =3
ssbes thttee D X TV -l 4 ane sas

dx vy 2(1-2 +j.:2)+1

Options:

X g +310g(x2 +_1-*2) =0

.x2+21_‘1:—310g(r2+1 +2): (\/Q'\Or)

| A
x 42y —%l(}g(r +y +2 =i OQ/
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Question Number : 80 Question Id : 7512364880 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

dy 5
If xlog xd;:f +v=logx” and v(e) =0, then v(e”) =

d } 7
xlﬂgxd;LJrJ»‘ =logx” S80%m 1(e) =0 wond, ye)=

Options:
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Question Number : 81 Question Id : 7512364881 Question Type: MCQ Opti %ﬁng : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical (\/

Identify the correct option. Q’/&
O

QOGHE @A) Mlotiok. @

Options: @

The range of the g:ravi;@al force 1s large but not infinite.

Hhddrawo BuE) Tga T UL 57 wlodo 57
L

The range of electromagnetic force is large but lesser than the range of gravitational
force.

Qe3ogeEaddT 08 w0 BwE), TR VGO T wh D] wo Ty 57 S899

The range of weak nuclear force is smaller than the range of strong nuclear force.
gravitation force and elelctro magnetic force.

RS Bos wewo B, TN, Pow Sos wwo BwE), TR, My g
Qg odue a7y I S80S



The range of the weak as well as strong nuclear force is of the order of 10 m

2eirS $0805» Hoo o vere a3 E%Sn 1070 m ot eotnod
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Question Number : 82 Question Id : 7512364882 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A current carrying conductor obeys Ohm’s law (V =RI). If the current passing through the
conductor is I=(5+0.2) A and voltage developed is V= (60=6) V, then find the percentage
of error in resistance, R

g EYT TR0 FOAS TIESw & JoDSrR) (V = RI) wHddd308. Tidrgdnd’
[=(5+02)AD50808509% V=(60=+06)VSTE a8 vwond I5E50 RS @od
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&
, OQ/
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A particle covers a distance from A to B over a period of time; the distance versus time plot
1s shown below. Then which of the following is true for the motion of the particle?

2.8 8§00 Fodsreod” Aod Blodgie droed) ddodod; dorddn Sddin steo HEos
Bo& Erdardd. ®ondYHL, $0o KT8 Jo0fod, & §od TES® IH HOFIH.

Srdo
Distance

Time
5Te0

Options: q
Both average speed and instantaneous 5pee@gqiways Zero.
HTH0 5B So0a0 E¥BE Sthen Bodr Prdvd )
i Q/
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Instantaneous speed is’zﬁ\vays non zero but average speed can be zero.

SR8 SO DOV DT IR wob TR0 S& Do) sy

Both average speed and imstantaneous speed are always non zero.
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An iron rod of length 1.5 m lying on a horizontal table is pulled up from one end along a
vertical line so as to move it with a constant velocity 3 m/s, while the other end of the rod
slides along the floor. After how much time the speed of the end sliding on the floor equals
to the speed of the end being pulled up.

§8z Jdrodd wy &Y 1.5 m e a:&a;ﬁ% wob. ©bh R0 3 w/s & FdoBboturr
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A boy standing on a moving truck throws a projectile such that he is able to catch it
back after the truck has moved 100 m. If the truck 1s moving horizontally along a straight
line with constant speed 30 m/s, at what speed (relative to the truck) must the projectile 1s
thrown (Assume g =10 m/s”)
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Question Number : 86 Question Id : 7512364886 Question Type: M /%tion Shuffling : Yes Display Question Number : Yes
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A body rotates about a stationary axis. If th @Ilﬂl‘ deceleration is proportional to square
root of angular speed. then the mean m@ speed of the body. given @, as the mitial

angular speed. is Q/?~
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In the pulley system shown in figure. the mass of A 1s half of that of rod B. The rod length
15 500 cm. The mass of pulleys and the threads may be neglected. The mass A 1s set at the
same level as the lower end of the rod and then released. After releasing the mass A. it
would reach the top end of the rod B in time (Assume g = 10 m/s?)
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A light rigid wire of length 1 m 1s attached to a ball A of mass 500 g to one end. The other
end of the wire 1s fixed, so that the wire can rotate freely i vertical plane about its fixed
end. At the lowest point of the circular motion, the ball is given a horizontal velocity 6 m/s.
Determine the radial component of the acceleration of the ball, when this rigid wire makes
an angle 60° with the upward vertical. (Assume g= 10 m/s%)

1 m FEIfe BOEFS §E 845 28 DS (ESgore 500 QA 2088 SAdoNT K. &K
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Question Number : 89 Question Id : 7512364889 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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A block of mass 2 kg 1s connected to an ideal spring and 1s placed on a smooth horizontal
surface. The spring is pulled to move the block and at an mstant, the speed of end A of the
spring and speed of the block were measured to be 6 m/s and 3 m/s respectively. At this
moment the potential energy stored in the spring is increasing at a rate 15 J/s. Find the
acceleration of the block at this instant.
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A uniform sphere of radius R and mass 2 1s placed on an inclined plane which makes an
angle 45° to the horizontal. For which of the following value of coefficient of friction,

the sphere rolls without slipping
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Question Number : 91 Question Id : 75123
ation : Vertical

Single Line Question Option : No Option Orien
A circular ring of mass 10 kg rolls along a horizontal floor. The center of mass of the ring

has a speed 1.5 m/s. The work required to stop the ring is
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: W T : .
If the displacement of a body 1s given by x =3 C‘os[ﬁm’ + —} m, then the acceleration of

the body atr=2s1s
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T
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If the acceleration due to gravity ‘g’ doubles and the radius of earth becomes half that of the
present value, then the value of Escape velocity is (Assume g = 10 m/s” and R (radius of
earth) = 6400 km)

B8 Jendod FI), Hids dcdmo ‘g Jwod Tododworm Jodoln grds FrgRrgn
D8 Jr0)8 Deoraid Jnbn Jend : (g=10 m/s” 508030 R (e Faog), g gsn)
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A uniform rod of length L is rotated in a horizontal plane about a vertical axis through one
ofits ends. The angular speed of rotation 1s w. Find increase in length of the rod, ifpand Y
are the density and Young’s modulus of the rod respectively

L 245 Ko Q568 §%&J ol ﬁa’adéa:ﬁal Qe wgo Byrg £8z Jdrodd geoes®
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Question Number : 95 Question Id : 7512364895 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A cylindrical vessel of height 50 cm 1s filled with water a% on a table. A small hole 1s

made at the height ‘4" from the bottom of the vessel so (hil e water jet could hit the table
surface at a maximum distance x___from the VESS% own 1n the figure. The value of
¥ Will be (Neglect the viscosity of water) Q/

28y 50 em o Jprs s TS QB E Dow@ QOO ORI, JLOS* WruSinm,
QST pedoop KBAdrdo X P8 wdobrio ol N ISST wl DS
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Question Number : 96 Question Id : 7512364896 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A cubical block of wood, of length 10 cm, floats at the interface between o1l of density
800 kg/m’ and water. The lower surface of the block is 1.5 cm below the interface. If the
depth of water 1s 10 cm below the interface and o1l 1s upto 10 cm above the interface then
the difference in pressure at the lower and the upper face of the wooden block 1s (Assume
density of water = 1000 kg/m? and g = 10 m/s?)

10 cm FEHS) D58 EGhSy 800 kg/m’ rogsie B %cﬁm A8 &ds doo I¢
Bendob. by 8ol doo wdnd do°d8 1.5 cm @od@%&. &6 S8 §odldod)
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A vessel of volume ¥ contains 1deal gas having mass density p at temperature 7 and pressure
P. After a portion of the gas is let out, the pressure in the vessel is decreased by AP. The
mass of the released gas 1s

V 505508705080 o 3@, ePrd T500050 H8s50 P3G p 55078 Foss KoOns
SEGHT Y0 EON &HB. TENYS' Foderm) 20538 S6DS ST5E FSS* DD
AP 80108, w0538 5608 Tchnd B, G503

Options:
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Question Number : 98 Question Id : 7512364898 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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A cup of coffee cools from 150 °F to 144 °F in 1 min in a room at 72 °F. How much time
will the coffee take to cool from 110 °F to 104 °F in the same room?

sQd 72 °F Sdfo #oS° ol @S b 5o exid 150 °F So& 144 °F S8
1 Q80hdns® Seudod. vl K6S° 57 g 110 °F Hoé 104 °F o &ifwds
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Options :
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Question Number : 99 Question Id : 7512364899 Question Type: MCQ Option Shuffting : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

An 1deal gas at mitial temperature T, and initial volum wexpanded adiabatically to a
volume 2V . The gas 1s then expanded isothermaliy|te a volume 5V and thereafter
compressed adiabatically so that the temperature oﬁ&he gas becomes again T . If the final
volume of the gas is oV, then the value of con o 1S

O
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A thermally msulated vessel containing monoatomic gas 1s moving with a speed of 30 m/s. If
the vessel suddenly stops, the increase in gas temperature 1s (Molar mass of gas = 83 g/mol
and R = 8.3 J/K-mol)

w8 wRuohd F@ QEJGSrend FrSdwy €08 30 m/is S&S° FdBNG. wsTrEm
T8 SNFB T GPISS” WD (Train Irerd EHgore = 83 g/mol Sodoin
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Question Number : 101 Question Id : 7512364901 Qu ype: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientati%gtical

A string of length 100 cm has th@'e onant frequencies. 120 Hz, 200 Hz and 280 Hz. If a
node is formed at the end of t}Q 4ing, the speed of the transverse wave on this string is

100 cm o &K So@ 120 Hz, 200 Hz S08 050 280 Hz 03 Sords e@doard rddargen
00 &ob. So|® VIE wdyodS Fdo bdﬁsé@, TR [RR0oth 8YgE Sdoff & Jewd

Options:
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Question Number : 102 Question Id : 7512364902 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Two particles executing simple harmonic motion as described by ¥; = 305111( 2t + TJ
2

and v, = 10(Si11 270t +~[3 cos 2t ) have amplitudes A, and A, respectively. The ratio

Al: Az 15

3 z ';r . z 3
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Two lenses A and B having focal lengths 2.0 cm and 5.0 cm respectively are placed 14 cm
apart. Lens A 1s placed to the left of lens B. An object is placed 3 cm to the left of lens A.
The distance of the image from lens A will be

TrPgodoren SdmM 2.0 cm H8cs0 3.0 cm m e A 8o B dLsod wioafss
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The pass axes of two polarizers were kept such that the incident unpolarized beam of mtensity
I, gets completely blocked. Another polarizer was mtroduced in between these two
polarizers with its pass axis 60° with respect to the pass axis of the first one. The output
intensity would then become
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HEE $Heesd, T PIorEo 0SS HNesd PITFTAE 60° Swo Tododln &
S0k GySeasrdie gy Do . VY 2EE 5708 SIS

Options:



2
2.

E

S

16 °
=

3

g
4

O

Question Number : 105 Question Id : 7512364905 Question Type: MCQ Opti ling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A negative charge 1s placed at the centre of the n n—ﬂlﬁducting sphere. The direction of
electric field on any point at the surface of the @:ﬁe 1S

VTTERNY Soo I& o8 e IT YT, FY GH0800 2 VoY SE3

Deogs B8 6% Qy~

Options:
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5 RS 20050838
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No electric field produced
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A spherical drop of liquid carrymg charge Q has potential V, at its surface. If two drops of
same charge and radius combine to form a single spherical drop, then the potential at the
surface of new drop is (Assume V = 0 at infinity)

Q 3550 EOAS 28 AOSH 185 Do) #8 Swo 55{& VO ﬁ”a&oﬁjﬁ EOH God. Jd7
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Calculate the voltage across AB terminals in the given circuit

QS J00irds AB o D&y FTEI 8§ owod.
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When subjected to a voltage of 10 V, the current through a resistor at a temperature of
40 °C 1s 0.1 A. The temperature coefficient of resistance of the material of the resistor 1s
2 x 107*°C". The temperature of the resistor in °C when the current drops to 0.098 A is

40 °C 3¢ o8 SR FFE 10V & 50T, TAS° 0.1 A Dhogd @Bardro J8)kdob.
REEE o @), 6 G e Keessn 2 x 1071 °CT. dgs Bardrso 0.098 A8
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Question Number : 109 Question Id ;: 7512364909 Qu e: MCQ Option Shuffling : Yes Display Question Number : Yes
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straight wire carrying electric t. If the permeability of free space is 4m x 107 T m/A.
the current passing through the Wire in A is

A magnetic field of 5 x 10 T is 35 ed at a perpendicular distance of 0.2 m ﬁom along

Deogs Warsn EOA &) 8H FEBS K% eoworr 0.2 m Ersos® 5 x 107 T
wododo8 BFo &SB8 ©onod. 855 VAL 4n x 107 T n/A ©o0d &Ks*
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Options:
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A long wire carries a current of 18 A kept along the axis of a long solenoid of radius 1 cm.
The field due to the solenoid is 8 x 10~ T. The magnitude of the resultant field at a point
0.6 mm from the solenoid axis 1s (Assume i, = 47 x 107 Tnv/A)

1 em &rgrgdofio rdEas TOTFoné vio ob 18 A © Jdgd Harrdn EONS 2EIS
8K oo, FOT0NE S DY o Dens 8 x 107 T. Zdarons wgo $od 0.6 mm
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. A small bar magnet experiences a torque of 0.016 Nm when placed with its axis at 30° with
an external field of 0.04 T. If the bar magnet is replaced by a solenoid of cross-sectional
area of 1 cm” and 1000 turns but having the same magnetic moment as that of bar magnet,
then the current flowing through the solenoid 1s

28 O8) Somraioan o8 vio 0.04 T Ko arirgg@os 30° Bodbodinodsd @& 0.016 Nm o
&G 8 S'8J&08. Somrdha) 0e'd) Srd) T @oF) 08 ENETAS DS graoso
5On So8gHS FTroge 1om’Sooasn 1000 wéns) FBToosH oSN, FBTonEe®
@IT00 Dgd DTS Dend

Options:

2A

1.

4A O)
5 Y
$

6A

8A @
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A rod of length 80 cm rotates about its mid point with a frequency of 10 rev/s. The potential
difference (1 Volts) between two ends of the rod due to a magnetic field B=0.5 T directed
perpendicular to the rod 1s

80 cm >&HX) 8§ S5 HogghHocwy Hsomr 10 1ev/s FSihdgos® @Wiseren Bdgod. §48
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In series L-C-R circuit, the resonance frequency of circuit increases two times that of the
initial circuit by changing C to C and R from 100 Q to 400 Q, while the inductance was

2 . - C B
kept the same. The ratio A, 1s

L-C-R @8 3005080 208890 won @od, CJ C'rp S0oasm RO 100 Qo H0d
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In a travelling plane electromagnetic wave. the maximum magnetic field is 1.26 x 107 T.
The mtensity of the wave 1s (Assume p, = 1.26 x 107° H/m)

©ErBd) e dDde Ddgloidr) o8 Sdoliod® KR waha o8 o 1.26 X 1T
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A cobalt plate 1s placed at a distance of 1 m{tany'a point source of power 1 W. Assume a
circular area of the plate of radius r 1s exposed to the radiation and ejects
photoelectrons. The light energy is consi to be spread uniformly and the work function
of cobalt 1s 5 V. The minimum tim arget should be exposed to the light source to

eject a photoelectron (assuming J%e ection losses) 1s
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A hydrogen sample 1s prepared in a particular excited state A of quantum number n, = 3.

|E|

The ground state energy of hydrogen atom is — [E|. The photons of energy 1 e absorbed

in the sample which results in excitation of some electrons to excited state B of quantum
number 7, whose value 1s

sgotoo Dopg 1, = 3 Ko af AP GBR @;m.:»é‘(lq} 2R ddoarord SASFHLII.
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The half life of neutron is 693 seconds. What fraction of neutrons will decay when a beam
of neutrons, having kinetic energy 0.084 eV, travells a distance of 1 km?

(mass of neutron = 1.68 x 102" kg, and /n 2 =0.693)
Srgérs vgRddsodn 693 DEDen. K828 0.084 eV Ho Srgirs Hozdw 1 km

ErSEn BT80S SHTE Fohdrh Sryrs HHo Jod?
(Srgers Bwg), 855078 = 1.68 x 1077 kg, 508050 In 2 =0.693 m &8 S5050)

Options:
60 x 107

15 % 107

25 x 107

, 50> 107 @

Question Number : 118 Question Id : 75123649 &)n Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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For a given truth table A, B, C are inputs and Y 1s the output. then the functional form of the
circuif 1s

8o A dSgHBES® A, B 58050 C oo ddwes, AgSsn Y wows, o Bosrs)E

%]

DO0N SrRo:;

A B S Y
0 0 0 1
0 0 1 1
0 1 0 0
0 1 1 0
1 0 0 1
1 0 1 |
1 1 0 0
1 1 1 0
Options:
A
1.
B
2.
A +BC
=
AR TE
4,
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Two diodes are connected in the following fashion. Provision is made to connect either
+5 Vor ground (0 V) to the points A and B. The output Q will act as

Bodo EBrGen §od o wdorrso BoPebkdd. ASdoin B HodkhHes +5 Vo
esgrd FBACHS (0 V) 0 8070 edodormdo Bodn Idoeverin wobd. TEYE Q
DITWSBD S0

|||—J/'
&
ZX
=
o

Options:

O
OR gate (\/QN
~ OR @y Q//&
@,
AND gate @
AND argdo0 Q/v

XOR gate
XOR o850

NAND gate
NAND &g

Question Number : 120 Question Id : 7512364920 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Carrier waves are used for communicating signals over a long distance, because

wbE drorod dosered Dodgo RONEAE T8 ddomredy ¢HRrhothLd 5°dw0



Options:
Carrier waves can be generated very easily

g dSomosh ©8 hodomr wé TohIw.

Low frequencies can not be easily modulated by the carrier waves

vy FH:DTgOH TIrE Slomred oo SrdgBl VohBhm.

Low frequencies can be transmitted over long distances

@y FIYPT oD whE drorod Pardo Vobienibeo.

Carrier waves that are generated at higher frequenci be transmitted over long
distances 6

08 TIPTeE &G VoHbS T5E &Jh‘ﬁ&:é} NSRS o STV PeElete

IR Q/
O
Q

Display Number Panel: @ Yes
Group All Questions: & No

Question Number : 121 Question Id : 7512364921 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In the Millikan’s o1l drop method, which of the following force does not act on the oil drop:

YET $F HF), GBS, §ob weres” B ST HDE RS HIVKE?
Options:

Gravitational force

ﬁ?é?géglsa 2380

1.



Viscous force

RS S8 §€§ 260

2.

Magnetic force

@oﬁaéﬁ*&ué 22830

Electrostatic force

o] 3)55355 200
&

Question Number : 122 Question Id : 7512364922 Question Type: MCQ Option St%g : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following series correctly 1'ep1'esﬂ®he energy of the radiation?

A

D8eore ¥8Q JdrDoB §od [Fveds® ﬁtjg&é& 28 7?
Options:
radio waves > X-rays > vistolé > IR
383> Ssomren > X%{@n > Syss > IR
1.
UV > X-rays > IR > radio waves

UV > X-88coren > IR >3&R> S8omen

y-rays > IR > visible > micro wave

V-88samen> IR > 'S8 > Joeg) SSomen



X-rays > UV > IR > micro wave

X-88eore0 > UV > IR > "wé& STomen

Question Number : 123 Question Id : 7512364923 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the correct order of 1onic radii of the following 1ons

$0d wairee woirds FEFTTO SO wond Fdobw HBotos

Options:

AP SK* > Mg > Li*
K> Mg™* > A > Lit

K sTitsMp™ »Al™ *§~

e
- /@Qx
AP

K*>Mg? > Lit >

Question Number : 124 Question Id : 7512364924 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The elements with highest and lowest electron gain enthalpy i group 16 respectively are
I 16 S° w8568 Sodoin wdgen Qe;g;?ﬁ g Qom“’@gm e dooresren SHEm
Options:

0 :Te

1



2.

S:0
2%

S Te
4

Question Number : 125 Question Id : 7512364925 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which 1s the correct order of dipole moments of BF;, NF, and NH,?

BF,, NF, $08a8» NH; © &qgod @rdogo 50 @dd)s $obn 287
Options:

NH, > BF, > NF,
BF, > NF, > NH,
NH, > NF, > BF,

>,

NF, > NH, > BF,

Question Number : 126 Question Id : 7512364926 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Match the following.
806 T3 8BS0,

List-1/erde -1 List - 11/ exDe- 11
(Molecules/Tons) / (weaoHen/woiraen) (Bond order) / (200 ES0S0)
A) N ) 1.0
B)y €O I 1.5
Q) O ) 2.0
D) O IV) 2.5
¥y 3

The correct answer 1s

D0 Wond B Q@
(1/

Options:

A B €
Iv vV I

A B C D \~
I IV V I &

=Nw

: /@
A B € D
ol | I 11

=
A B € D

L,V IV I I

Question Number : 127 Question Id : 7512364927 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The van der Waals equation for 0.5 mol of a gas 15

0.5 mol © 28 TFBPHE ToKks TSy B EGeSW



Options:

S
4V 2

.[P+ 5 )(EV—E;]:RT

4V*
=
[P+ ”2)(3V—4b)=RT
Y
>,

[ a ) 2RT (\9
Pt |=
aWE ) 3V=B) A
gﬂ;ﬂﬂnﬁu&gier}%ﬂpggﬁwg Igptrgégﬁegfgt|g#%$ MCQ Option Shuffling: Yes Display Question Number : Yes
Which one of the follnwrin%g{esents Boyle temperature of a gas?
Bod TES® A6 wrond GRS Srdiod?
Options:

The temperature at which an 1deal gas obeys Boyle’s law.

SE8) 50D Tond JcHIr) FBod GPHS

1.

The temperature at which the compressibility factor 1s less than 1 for a real gas.

QaaToingd Boads Hodo 1 o8 8895 ol &P

2.



The temperature at which a real gas obeys ideal gas law over an appreciable range
of pressure.

D)8 Dbt da TS BB Tk AcHIFY) FBod wPS

The temperature at which the compressibility factor deviates from 1 for an 1deal gas.

e5d) TosY Dowdd Mo 1 LHod deso Bod A

Question Number : 129 Question Id : 7512364929 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The approximate molarity of a solution in mol L™ that contains 13.50 g of NaCl dissolved
in 452 mL of water is

13.50 g &> NaCl & 452 mL Q&3e5* 88000& |5°Se0 mm&»@aé mol L ¢5* Jog?

Options: (\/Q
0.25 A

0.51 @
1.0 &Q

1.2

Question Number : 130 Question Id : 7512364930 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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The coefficients x, v, p, ¢ and » m the following balanced equations respectively are:

xMnO

2- ; . e
alag) TV HEO“} —p MuOE{S] +q Mnoﬁaq} +7 OH{ag}

Bob Ndgo deogo ol x, ¥, p, ¢ 00 1 esren SHdm

; - . - _
XMIO%&.*&J] +y HEO((‘::;’] —__}pM102{q5J] + gI\{[nO,q{ﬁe] = FOH(;‘E&J']
Options:
a2 2 4
1.
A - O
2.

o A
e <j</

tad
I

Question Number : 131 Question 1d : 7512364931 ion Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientatiol tical

The increase in entropy in J K}@ substance when it absorbs 1 kJ of heat energy at 3 K
1s

28 dorgsn 3K 3¢ 1 kI 3480 (rosm 28aS Jogs'd JK os®

Options:
b S N
3.33
1.
o i s |
3333
o)
o B By |
0.333



0.0333

Question Number : 132 Question Id : 7512364932 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Consider the equilibrium H, + I, = 2HI . Calculate the equilibrium constant of the reverse
reaction when the equilibrium concentration of H,, L, and HI are 1.14 x 102, 0.12 x 1072
and 2.52 x 107> mol L™, respectively

H,+1, = 2HI 558382 #odosod. H,, I, oodsn HI depsd mEdes S6bm
1.14x107,0.12 x 10508050 2.52 x 107 mol L™ &) ¢, S $85% 508798 Horodson
S8 oWk

Options:

46.4

0.021

1842 QD

&«
. 0.054 &g

Question Number : 133 Question Id : 7512364933 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The concentration in M of OH in 0.001 M H,SO, 18

0.001 M H,SO, &* OH s M &*

Options:

1 %407

0.5x 107"



102

0.5 10

Question Number : 134 Question Id : 7512364934 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following gives highest volume of O, at STP on complete decomposition?

STP $& §ob @™ 28 8 IRrHIN Dod wdghs WIHdIrwod® 0, & ad0b?

Options:

2 mL of 100 vol. H,O,
2mL o 100208 $83r=0 H,O,

500 mL of 30 vol. H,0, Q,/&
O

500 mL & 30 308 588000 HJ)@

v
1L of 10 vol. H,0, @Q/

1L e 10508 505008 N0,

100 mL of 20 vol. H,O,
100 mL & 20 58 H83500 H,0,

Question Number : 135 Question Id : 7512364935 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The frequency of the radiation emitted by alkali metals in the flame test follows the order

200 HOES’, 578 SiFPen ¢Irdoll D8 TH:PIgo ed00T EDn

Options:



[i>Na>K>Cs
Li>K>Na>Cs
K>Na>Li>Cs
K>Cs>Na>Li

Question Number : 136 Question Id : 7512364936 Question Type: MCQ Option Shyffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following 1s correct 1‘&13@1}@0 diborane (B,H,)?

A

35785 (B,H,) & 020800 §0d m&ﬁ@é@ 06?

Options: @
Colourless liquid Q/v
,

BB |855» A

Colourless solid
EorHBR P08 HErgS®

Colourless gas
BooBd 05399

Colourless gel
508 BS



Question Number : 137 Question Id : 7512364937 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the correct statement(s) from the following:
1)  The catenation property of group 14 elements decreases from carbon to tin.

i1)  Fullerene (C,,) has 20 five-membered carbon rings and 12 six-membered carbon
rings.
ii1) S10, is soluble in Conc. NaOH.

Bod 8BS DB wowd JSTea(en) oo k:

1) B 14 Sorosre 55034 G850 TER ok B 85 Sdob.

i) 0 (Cgy) &° 20 0t seoend) Sociren S08d5n 12 s6H s nend) Seairen
oo,

i) Si0, ¢ NaOH &° 86i0é008.

Only ii Q,QN

ii S
i iii

i ii Q/v
2. &%

11, 111

Question Number : 138 Question Id : 7512364938 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Consider the following reactions mvolving some atmospheric pollutants.

NO+0;——NO, +0,—> N0+ 0,
ANO, + 0, + 2H,0—— 4HNO,
3CH, +20,——3H,C=0+3H,0

Based on the above, the formation of formaldehyde from methane in the atmosphere will
be controlled by

HTgIB0S A FQ) Seodrgod rdd §od ddgod nddotod.
NO+0,——NO, +0,—™ sNO+0,

4NO, +0, + 2H,0 ——> 4HNO,

3CH, +20, —>3H,C = 0+3H,0 O

2 T8 erdom, $0gS600s’d HBS Sod FoEmEEird) doho@oda.

Options: &
Only O, OQ/

Q/?‘
O, and NO,
P

0, $o6a08x NO,

O,, NO and NO,
O,, NO $%8ain NO,

NO and NO,
NO S808 NO,

Question Number : 139 Question Id : 7512364939 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



The number of no bond resonance structures possible for but-1-ene and a 3° carbocation
having methyl, ethyl and isobutyl groups on cationic carbon respectively are

2rglS-1-68 S0 LOIrAE SRS NS, SRS D00 2FrgBS Durdten
EOARS wE 3750 ysrlodiraio éﬁcﬁgmcﬁag 205 8aré BE'IQ) Ao eT e Dopg SEIM

Options:

2. 1

. 3 B Q\O’)
&‘1/

Question Number : 140 Question Id ;: 7512364940 Question Type: Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : VerticalC)

Total number of acyclic and cyclic 1so possible for molecular formula C,H, is

500580 T C,H¢s @ﬂéﬁgé}ﬁo%%{soﬁa 508050 WIS ST e 0o Dopg

Options:

5
1.

?
z.

9
=3

8
4,
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The order of stability of aromatic hydrocarbons given below 1s

Bod 5,88 TIEFThee RS ko 26?

Structure @
i | © 0010 | BIC

A B O D
Resonance stabilization
energy in k cal/mol _

36 61 84 92

3E°IS) Lo 48
k cal/mol

Options:
A<D<B<C
1
D<A<B<C
z.

B>C>D>A

A>D>B>C

Question Number : 142 Question 1d : 7512364942 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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In a compound AB, A atoms occupy the corners of the cube and the B atoms occupy the
body centre of the cube. If the A atoms possess magnetic moment due to up-spin and B
atoms possess magnetic moment due to down spin, the magnetic nature of the compound
AB 1 an i1solated unit cell 1s

28 DFESS0 AB &°, A DESrenPen oSS0 Srood siED0d todrrow H$8d5m
B 388rea0den 0880 wodiSotios® 8o Gotron. AdSSrae DI My Jod
©O3 08 P00 EOA wod 0ciw B H8Srmode §od I AW Jod walhdr) od
@500 $ON &d)o0008 2.8 INE AL PSS AB 130)¢8 50 wokar) 08 deardSw.

Options:

Paramagnetic

. ﬁmoﬁa@zoééﬂga

S
Ferrimagnetic q/Q

210 @ ohoa 08800

2,

A
&
N O
1amagnetic @
oS> wasR, 08800 Q/?‘
9

3.

Anti-ferromagnetic &
. 5ol PIT woSod 0880

Question Number : 143 Question Id : 7512364943 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Two compounds form an 1deal solution at room temperature. Which of the following are
correct for this ideal solution?

a) AG=-+ve

b) AS =-+ve surrounding
c) AS=-+vesystem
Ao H=0

Bodo ddopFTrer 18 PN ¢ wEE) (B°8R) JETon. & Bl TSI 8od
TS DD HB WondD?

a) AG=-+ve

b) AS=+ve H8doren

c) AS=+ve S5

d) A _H=0

Options: Q@
(1/

c.d

Question Number : 144 Question Id : 7512364944 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If a solute associates in a solvent, its experimentally calculated molar mass using boiling
point elevation method will be

a8 [TIS0 w8 TIBST ITEE wedh IBYEB rFSS TS G5B HEEI SHTrHod
©RBrio Teo" HeBodd JIorerd (35073

Options:



Half of the actual value
TEd dendes® Do sotned

Will remain same as actual value

T8 Q0N TR otnod

One fourth of the actual value
TS DendeSt TP do0éd wotnod

Higher than the actual value f@
i Dend 08 BS wolnod (\9

Question Number : 145 Question 1d : 7512364945 Question Ty(v@omlon Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vert

For a half cell containing a Pt rod imn in a solution of 1M HA, O,(g) is bubbled at
1 atm. The standard reduction poten% 1 water formationis 1.23 V. Given a dissociation
constant, K =1x 107 for HA, v ety AL 208 K m V?

IM HA grd0es® PT§§§R) S0l &) @gm@oeﬁ*é 1 atm $5& O,(57) & Dodardd. D
DT e Foboden PBIGHS 1.23 V. 20y HA dS>ras doodo K =1 % 107" waxs

298K 56 Eygqyy,, V 0O° 2087

Options:

1.289
1.171

1.348

=



1.112

Question Number : 146 Question Id : 7512364946 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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When the temperature of a reaction is raised by 10 °C, how many times the rate will be
enhanced?

B$8g eraiid 10 °C 200008 T IQ) Téw iheod?

S
2 Vv

3, Q,/&
4 QO

Question Number : 147 Question Id : 7512364947 @Gn Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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The most effective cuagﬁﬁ&mg agent among the following for Sb,S; sol 1s

L

Sb,S, &S § 0b T8S® ©85HE HTrIS0ENS ) 08 PED FEESD
Options:

Na,SO,

1.

AL,(SO,),

NH,CI

i



NaCl

Question Number : 148 Question Id : 7512364948 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following statements are correct related to metallurgy?
A) In electrolytic refining of copper. pure Cu 1s used as anode.

B) Zone refining i1s based on the principle that impurities are more soluble in the melt
than in the solid state of the metal.

C) Til, upon heating will give pure Ti.
D) Very pure Zr may be obtained by Galvanisation.
E) In copper smelting hot air 1s used to convert Cu,S to CuSO,.

'S5 Hore 180D 38 wond IS8 A7 q
A) Cudseghgiing Fgsed”, B Cud ssEm 5D N

B) Sodzen w:ﬁa@éﬁ € 8) S0 $0B Heod aij{% S T0e5” Q8 S BN trotrchI
QDB WS Dok FwS HES @cs“cﬁna(i’s

C) T8 3& Bohwo Hod DE T1 5%

D) meRRaS oo wrer HEIS Zy &df)tﬁ}\

E) 586 @iodos® Cu,S & CuS q)wané 3I& mOI i .
The correct answer 1s &

HOGB BEFETEB0

Options:

(A).(B). (B)
®.(0)

(B), (C). (D). (E)



(B). (©), (D)

4
Question Number : 149 Question Id : 7512364949 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Identify all the products formed when XeF, 1s completely hydrolysed.

XeF, & r8m 20dihen Dohm 638 o) admed HioKod.

Options:

Xe. Xe03, 02, HF

i

z.

Xe, O,. HF Q\?)
v
XeO,. O, (2,&
' O

_ Xe0, Q/?*

=y

Question Number : 150 Question Id : 7512&%0 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What are the compounds formed when white Phosphorous is dissolved i boiling NaOH
solution in an inert atmosphere?

28 TeHdndns” Hon NaOH @rdnod” 8y wrdiord) §0Aodm J8)aS $ndaen
By

Options:

PH,, NaPO,

NaH,PO,, P(OH),



PH,. NaH, PO,

P,0,,. Na

10°

Question Number : 151 Question Id : 7512364951 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Match the following.

8ol S8 2EIEB0&.

Metal 10n Color

S BeSrS :sg)u
Q

Aj Al  Colotless
Q((/ Soiks B
B) Ti*" @ II) Purple

& ..

¢ Y 1) Green
@émz;g}

D) Ni*f IV) Blue
QDO

V) Yellow
520D D)

The correct answer 1s

08 Loy SSrTido

Options:



& B €« 1
W H 1 H

A B O B
n v 1 I
2.
x B € D
] 1 . | I | V

4, q

Question Number : 152 Question Id : 7512364952 Question Type: MCQ Cﬁvghufflmg Yes Display Question Number : Yes
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The correct order of the increasing ma gn@momen’rs for the following 1ons 1s

O

§od wdiree wdhd)od @&§5§@ 008 D8R (B0

NlCli_,Fe H,0), :Ni C,@ Cu(H,0);"
Options:

Ni(CN)?” < Cu(H,0)." <NiCl{” <Fe(H,0)."
NiCl}~ < Ni(CN).” <Fe(H,0)." < Cu(H,0);"

.Ni(CN)i" < NiCli‘c:Cu[Hgo)? < FE‘(HzO)?



Ni(CN); < Cu(H,0)." <Fe(H,0). < NiCl}"

Question Number : 153 Question Id : 7512364953 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The monomer units of Nylon 6.6, Nylon 2-Nylon 6 are respectively,

Jers 6.0, 508050 Jors 2o 6 © I Hb TBooeQE SEJ

Options:

H,NCH,CO,H, H N + CH, -, NH,; HO,C + CH, -, CO,H, H NCH,CO,H

1.

H,NCH,CO,H, HO,C + CH, -, CO,H: HZN(CH@g, H,N+ CH, 9, CO,H

A
H,N(CH,).NH,, HO,C + CH, -, CO&[?&NCHZCOEH, H,N+ CH, -, CO.H
, HNCH,CO,H, H,N CH, ¥, &@/Q% H,N+ CH, 5. NH,. HO,C  CH, +, CO,H

Question Number : 154 Question Id : 7512 %ustion Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Ori tion : Vertical

The product(s) formed when glucose reacts with a strong oxidising agent like HNO,
1s/are

HNOE o) oIS @§J§6m 8808 ﬁrp;%*g ST odm bc‘.ﬁbé ﬁréﬂ)@&‘m{m}

Options:

COOH(CHOH),COOH

1.

CO,. H,0

2.



COOH(CHOH),CHO

CO, CO,, H,0

4.

Question Number : 155 Question Id : 7512364955 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following statements are true for saccharin.
A) It 1s a sodmm salt and is not soluble in water.
B) It is much sweeter than cane sugar.
C) It 1s of great value for diabetic patients and is excreted as such in urine.
D) It 1s harmful
O

Bod DSBS’ FEESK Ho20H0D H8SDBD A? \/

A) 28 w8 PFhDHD ©ledn oS AHBS* §djr€c33.(1/

B) 20 03008 508 @8 & 0058,

C) 26 DHIT Shosh Tror JeIHd % DEJ0E Sorddy Boddor dar@o
TG0 2 )SDHEo0d. @

D) =2& #2880 @?‘

(&

A B
12
C,D

3

B.D
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The final product “B” of the below reaction sequence 1s

Bob STgER0s™ DN ey, “B” 287?

Br
| C.H.CO), O,
. WL ;Br}f LB
Options:
CH,CH,CH,OH

1.

O
CH,CH=CH, Q\'
&‘l/
_ CH,CH,CH,Br Q((/
- N

, (CH,CH,CH,),0 ({/?”
_ &®

Question Number : 157 Question Id : 7512364957 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Arrange the following compounds in the correct order of their acid strength.

808 dWpFTreoty V0TS BN OEENS® )b,

OH

CH, \ CH,
HO /CHOH \
CH CH OH

a b C d

N



Options:
a>d>c>b

a>b>c>d
b>c>=d>13
brazd>c¢

Question Number : 158 Question 1d : 7512364958 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The product (P) of below reaction sequenc?\/@'»

A
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CH,CH,CHO —® 98 g
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Options:

CH;CH,CH = C -CH;

CH,

|
CH,CH,CH,CH-CH,OH



CH;

| 3

CH,CH,CH=C - CHO

CI

I
CH,CH,CH=C-CO,H

Question Number : 159 Question Id : 7512364959 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What are the suitable conditions for the followipg transformation?
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Options:

KMnO, —H,SO,/A

1.

0,/0,, Zn+H,0

2

0sO 5

Pb(OAc),

Question Number : 160 Question Id : 7512364960 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



The compound “A” decolourises Br,/CCl, and releases N,-gas with HNO,. The compound
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